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6. Diamond is hard because
(A) itis made up of carbon atoms.

(B) all the four valence electrons are
bonded to each carbon atom by
covalent bonds.

(C) it cannot be burnt.
(D) itis a giant molecule.

7. The maximum durétion of ‘Zero-Hour’ in
the Lok Sabha is

(A) 60 minutes

(B) Indefinite period
(C) 30 minutes

(D) 2 hours

8. India gets the largest share of its G.D.P.
from which of the following sectors ?

(A) Construction sector
(B) Service sector

(C) Agriculture sector
(D) Manufacturing sector

9. The Law of Natural Selection is associated
with
(A) Darwin
(B) Mendel
(C) Dalton
(D) J. B. S. Halden

10. Which of the following is needed by a
person suffering from diabetes ?

(A) Penicillin
(B) Streptomycin
(C) Insulin

(D) Steroids
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